1. QReal numbers R
2. l l Conditional equation

Intermediate Algebra 2nd per. Test 1 Solutions

\Distam:e =ratextime

\Interest earned = principal investmentx interest rate

3. E‘Additive identity \a +b=b+a
4. g Rational numbers @ \a +(b+c)=(a+b)+c
\a(b +c)=ab+ac
Srratmnal numbers N
7. BSlmple interest formula \N
JUmnn of sets AUB ﬁ\a
9. 6Mult1p11cat1ve identity \\l/a
IO.fNatural Numbers M \The set of all elements that are in either Air;E

11 Additive inverse of anumber a

5. Integers Z

\The set of all elements that arein both A and B

\
\The set of all elementsthatarein Abut notin B

13CCummutative Property True for only some instances of the variable

lmdultiplicative inverse ofa Nays true for all instances of the variable

number a \Jever true for any instance of the variable

Motion formula

15 Identity equation The set of counting numbers
16. Intersection of sets ANB &"he set of all numbers that can be written asa
17L_ Relative complement of sets decimal

A/BorA—B \The set of all numbers that can be written as fractions

1B.Q Contradiction equation lexe set of all non-terminating, non-repeating
19.§ , Associative Property

20! Distributive Property

cimals
The set of all positive, zero, and negative whole

numbers

Il.  Translate the verbal expression into a variable expression in terms of a single variable. Do not simplify.

21 Thegk;l of twelvatlr:es anumbe; néhree less than the number.
2n—+ N
n—+ I
22. Twice the difference betweeéur more than twicea numbe)anéne more than the numb9
=
2[4+2n —(n+1)

23. Find three consecutive odd integers such that twice the difference between the first and third is 19 less

than the second. x X+ 2 x-’.

‘QB X+ 4\ (= X+2— )0‘ A]

24. 50 pounds of delicious Jamaican Blue Mountain coffee that costs $28 per pound are mixed with Fakin’ Blue

ll.  Write a linear (single variable) equation to describe the word problem|

Discount Coffee that costs $4 per pound. How much Fakin’ Blue is needed to make a coffee blend that costs
$15 per pound?

IBM 50O 28 50(29)
ZB % $4  AX
" SO $Is  19l504x)

50(29)+4x =I5 (50+x)
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5-[Bn-n-2] = 5-[=4n-2]]

=5+4n+2 :

26. |-5+3| — |- 1] + (—4)(5)

: l=al= 1| + 200

- B { -
V.  Solve the linear equation.

0-5x = [-2 [X=3x -] 37X
10-5X=1-2 [-2% -0

107X 2[4+ 4% +12_
0-6x2 5054

28, —(~Br+ 1) = —(-3-5r) —6r

8c-1=3+5r- 61
8¢- (=3 -

9&‘:
54

VI.  Giventhe sets A, B, and C (and all the usual sets listed on the first page), determine the following unions,

intersections, and relative complements. Give the answer in the simplest form possible.

A={12345),B= {—2,—1,%,2,3,5, 6}.¢ = {—5.m)

—— sacs = E|)2)ﬂ-§

30. CNQ 32. BUR == R
— Z —

VIl.  Solve the linearinequality. Give the solution in your choice of interval or set-builder notation.

33.3x 45> 5x 40 < —
3oy eg-g X TTZ

XX >4

X<5
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VIll.  Graphthe compound inequality on the number line, and give the solution in your choice of notation.
N
35. x< 3 and x = —5 37.x<2 or x=-3

é@% @%
[1:53)] FrlsaxX RG]

36x>=1-cmdx< -2 3. x>1o0r x<—4

-2 4 -4
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